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Genral Instruction to the Examinees :

L

II.

II1.

IV.

Rt HaUeF 39 YIS U= MG T-aRa: forwd |
Candidate must write first his’her Roll No. on the question paper compulsorily.

O geq B e €1

All the questions are compulsory.

UIPh U @Bl SR 4l T8 SIRYRIdT H & fored |

Write the answer to each question in the given answer book only.

O wedt # oiaRe w@vs 3, 91 8l @ SR U 9T 8l fored |
For questions having more than one part the answers to those parts are to be

written together in continuity.
ved U5 & Bl 9 3RSl ®urR | {6 yhR @ Ffe /sfae / fRrmArd sH
o =l W & T BT e T8l A |

Itthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question ot Hindi version should be treated valid.




Lre—H
SECTION- A

(i) 12 3R 15 &1 AFY 3R A[Y FIT BATT 7

(31) 60 3R 3 (@) 24 3R &

() 12 3fR 30 (®) g9 ¥ P15 oI 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of these

(i) 9895 H 3x%1ax—2 DI B GEA BN ?

(37) 1 @) 2

(9 0 () 379 9 @18 8l 1
Numbers of zeroes in polynomial 3x> + 4x —2 187

(a) 1 (b) 2

(c) 0 (d) None of these

(iii) Y fog & Mcena 8 8 ?

@) (1,2) @ (1, 1)

&) LD (=) (0,0) 1
The Coordinates of origin are ?

(a) (1,2) (b)(1, 1)

(c) (-1, 1) (d) (0,0)

(iv) I 2x+y =06 Bl d SUDI FT I I A 8 2

@) (1,2) ® 21

() (2,2) & (1, 1) 1
Which pair is satisfy the lines equation 2x +y =6 7

(a) (1,2) (b)y(2, 1)

(c) (2,2) (d) (1, 1)

(v) FHERT 452 4 hx+c=0 . az0 & Yo IRAAD el B Il
@) b>—4ac<0 @ b>—4ac>0

&) b>—4ac=0 (@) 39 9 P18 &l 1

2




In which condition the roots are not real in Quadratic equation

ax’ +bx+e¢=0,a=0

(a) b*—4ac<0 (b} b° —4ac >0

(¢) b>—4ac=0 (d) None ofthese

(vi) U THIR $IG1 3, 7, 11, 15 .o, @ TOIU FTARTR BATT 7
) 1 @) 2

(9) 3 (c) 4

The common difference forand AP. 3,7, 11, 15............ will be

(a) 1 (b)2

(c) 3 (d) 4

(vii) 2sin45° cos45° HT AF BATT 7
]

(37 7 @) 2

(4) ®) o

The value of 25sin 45" cos45” willbe ?

® 5 (b)2

(c) 1 (d) 0

(vii) U% g @7 fraei wuel Y@ &1 ¥ 7 2
@) TP (@) 3=

SIS (&) <IrT &I

How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) 9T BT &G S B B Gl 8 ?

@) 2mr @ o

@) (@) ¥ 9 P T




Which one of the formula to find area of circle ?

nr’
(a) 2mr (b) 130
(¢) 7 (d) None ofthese

(x) IS TH doA9 B HAE 11 FH AT IHBT Ib YOI &9hd 968 T
& T 9o @l rr srlr ?

(31) 10 T @) 11 I

(@) 12 T () 14 IFT 1

If a height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10 cm (b) 11 cm

(c) 12cm (d) 14 cm

(xi) 971 7,4,5,3,4,3,4, 1, 2 %I Sigeleh 8I—

&) 7 @) 4

(4 3 () 2 1
Mode of the distribution 7,4, 5,3,4,3, 4,1, 21—

(a) 7 (b) 4

() 3 (d)2

(xii) T® URT BT U gR bHl Sl & | 959 T BT U B DI
Rdar 3—

G 5 @ =

(&) 0 () 1 1

A die is thrown once, then the probability of getting a prime number is—

@ 5 Ok
2 3
{c) O (d) 1
(i) 3425 TF o, T E? (O™ 7 37OR) 1
3425088 number ? (Rational / Irrational)




(i) O I oo B E 7 (FARRH /T 1

Allcirclesare ............... {Congruent / Similar)

(iii) tan30° tan60° BT AM ... BFT ? 1
Value of tan 30 tan 60" is........... ?

(iv) I &I wet @ ol B & " . BT BT Al & 7 (R
BT/ 3w BT/ HHDI) 1
Angle between a tangent and a radies of circle1s............... (Acute angle/
Obtuse angle /Right angle )

(v) T AfBSl BT AR o6 B BT A = g7 1

Formule of finding mean of a grouped datais  —

(vi) TRl ST = % B9 1 s ... BT E 1

The probability of an impossible eventis................ .

(i) 3T =R A THIH FIETT R FSA ATGE T Rl I fAfE | 1
Find the condition of unique selution for pair of linear equation in two variables.
(i) 2 FBRU 45% L hx+c= 0 B A D0 S &7 S eRER I
[SIECIG 1
Write the Shree Dharacharya tormula to find roots of quadratic equation

ax" +bx +¢=0-

(ifi) TR $IdT 2,6, 8, 11 .. @ 12 TSI BT ART A BRI 2 1

Find the sumofAP.2,5,8, 11 ........... to (12" term)

(iv) ST 9T Sl @7 qomeil &7 S UTd 4 9 8 I 891 |F! el @
ERHE! BT U S BTy | 1




If ratio of sides of two similar triangles is 4 : 9, the find the ratic of areas of

these two triangles.

sec 40" sec 50"

cosec50”  cosecd0

v) T T JF 1 BIfSTY 2 1

sec 40" sec 50"

cosec50” cosecd(” -

Find the value of

(vi) 9sec’0—9tan>0 W HM T &I 7 1

Find the value of 9sec®*0—-9tan®0

(vii) U 999 U HFR & BRIT SHD SIS & aRER 8] 9T B, dr
3=+ PV 19 BT ? 1

At atime, the shadow of a tower 1s equal to height of tower. Find the angle of

elevation 7
(viii) &7 7T AR H BT g &I AF HIT BIY 2 1
C
10m
6 [
A 1 O\E m B
Find the value of angle g in given tigure 7
C
10m
6 [
A 1 O\E m B




(ix) IfE UH 95 PH O Fw dred Al ged WR PA, PB ¥ X@U WRER
80" @ WPIVT U bl BT Al LAQB BT A1 M B 7 1
Iftangent PA and PB trom a point P to a circle with centre O are inclined

to each other at the angle of 80”. Then find ~AOB .

(x) 19 T TTHIT U NERAVS WY 3R §9 2 1 & Ui A fawira
BT ? BFT |RT @l A9 fordr | 1

Draw a line segment of a length 9 ¢m and divide into the ratio 2 : 1 mesure the

two parts.

(xi) 6 THI T alel Uh I @ U HIURAUS Bl &A% SR DIy,
fSTaa®T BI0T 60° B 2 1

Find the area of a sector of a circle with redius 6 em, if angle of'the sector is
60",

(xii) TH IRT H 3 ell, 2 UHE 3R 4 o 7g 8| 39 R H U TP %
AT [hTell IR & T SHl 9T WIedr & 6 Faprell 18 A el
N 1

A box contains 3 blue, 2 white and 4 red ball. If a box is draw at random from
box, what is the probability that will be blue ball ?

Yrs—q
SECTION-B

ST TERIT 616 AR 32 &1 AW AHIYGd® (HCF) S SHIfoTg |
Find the HCF of two numbers 616 and 32.

U [gORT 9808 SR DIy, [5THS TIF 4 TAqT 1 8 7 2
Find a guadratic polynomial, whose zeroes 4 and 1 ?

feema TR gx2 _x_2—0 B G AT BT ? 2
Find a roots of guadratic equation gx> —x —2=07

faegail (1, —8) AR (—4, 5) BT SIS Il WERETS Bl 30T b 3T
Y g &ear & @ B ? 2

[\




10.

11.

12.

13.

14,

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2

I F 60 m T SR W TE T 3F W F | T4 G o0l SRR TRt T Y
ftt < e farg & o feam 0 % 1 yfn % Wy SR 1 R 60° 2 | 8 AR
& S H ®E T 78l €, SRt A qa H I 2
Akite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 T TS BT Uh VTS Widdy IR 2 : 3 § e (IR
BT ? 2

Draw aline segment oflength 6.7 cm and divide it into 2 : 3 internally 7

5 W 2501 & Uh gl U Ul <7 Wl v @i, S WRER & 60"
P R gDl B | 2
Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each
other at angle of 60

gfe a1 el & arwd SER 81 O g $IfoTe fd o Bgst waimam
Bl 8 7 2

If that area of two similar triangles are equal, prove that they are congrunt.
TS "ol & e @ g3 Rorad e 14 991 21 39 g8 @ gRT 5 e
H IR eTmd ST BTy ? 2
The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes ?

BT 4.2 991 910l G & U Tl B UEAR BT 6 I dTel Ud
I & U H AT ST B | 99 Bl SHaAs S HIg ? 2

A metalic sphere of radius 4.2 cm is melted and recast into the shape of'a

cylinder of radius 6 cm, Find the height of the cylinder ?
TR 5.5cmx10cm x3.5¢m aTa] b &9 9 & folU 1.75 ST &9
2 UHUA AICTE dldl fdhdw dAiel & ekl & g™ us T ? 2

How many silver coins 1.75 cmis diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5 Scmx10cmx3.5¢cm ?




15.

16.

17.

18.

19.

20.

11 IRWRAT ¢4 T 9-I S1d Iy ?
x 20 30 40 50 60 70 | a0

t 6 11 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

t 6 11 7 4 4 2 1

e AsiRBefMu i@ T ued 2l as gd e o Ao 89
Sl &l WIfddr 038 81 B & 89 oildy &1 &1 Uifddbar 8 7 2

Two Players A and B play a tennis match. It 1s known that the probability of a

winning the maths 1s 0.38. What is the probability of B winning the match ?

ls—

SECTION- C
AP 17,1513, o fepa 5 foiu ST «1fes ST 977 81 817 3
How many termsot'the AP. 0 17,15, 13,.............. must be taken, so that their
sumis 817
g BIfY & fog (2, —2) , (—2, 1) @1 (5, 2) U WHHIV 7]l & o
2 3
Prove that the point (2, -2), (-2, 1) and (5, 2) are vertices of a right angled
triangle.
FFr=feriad aifiepd oficpe! @1 wicqd Ared [Afer gRT 7R 1 Piforg ?
f TM—=13 1318|1617 1719 | 19—21 |21—23|23—25
FIELSINGII 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 [13—15 | 16—17 [17—19 | 19—21 |21—23 [23—25
Frequency 7 6 9 13 20 5 4 3
Rig #IvT 5[5 90 & fodd e & RRT o= it 78 vt Y
AR B & 3




Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

Hue—g
SECTION- D
=1 IR AT W BT Merdd A gRT g1 S ?
2X+y=06; 2x-3y=12

3rerat
=1 IR AT W BT Merdd A gRT g1 S ?
X+3y=6, 2x—3y=12 4

Solve the following pair of linear equations by graphical method
2X+y=06; 2x-3y=12

Or
Solve the following pair of linear equations by graphical method

X+3y=6, 2x—3y=12

fog @iy fo
s
+S?nA =secA+tan A
l-sinA
H2ET
Rig wifoe s
c;o%A +l+smA:2secA .
l+sin A cos A
Prove that
I+ s
+S¥HA =sec A +tan A
l-sin A
Or
Provethat
Cos A +1+smA —sec A

l+sin A  cosA

10




frfafian wreft feelt sremae 7w fagw o | 9t gu afial st o =
£ %_

e (It H) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

it = G 6 11 21 23 14 5
T RG] & AGAF ST FEA FIT HIAC 4
AT
Frfafea s 57 Tl Aiged & 68 ST @i oo =
IR @A T & | 57 SRS ] o ATe S s Fd S |
ufees @ud (3IEd H) SYNTERST Bl HE&A
65— 85 4
85 - 103 5
105 - 125 13
125 -145 20
145 - 165 14
165 - 185 3
185 —205 4
The following table shows the ages of the patients admitted in a hospital during a
year
Age (in years) 5-15 15-25 | 25-35 | 35-45 | 45-55 |55-65
No. ot Patients 6 11 21 23 14 5
Find the mode and the mean of the data given above.

Or
The tollowing frequency distribution gives the monthly consumption of electricity

ot 68 consumers of a locality. Find the median, and mode ofthe data.

Monthly Consumption Number of
(inunits) Consumers

65 — 85 4

85105 5

105 - 125 13

125 - 145 20

145 -165 14

165 — 185 8

185 —205 4

11




